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Name: xm/_ ID: A Name: xmf“ . | ID: A

33, The total purchase on wedding decorations from a 63. Does the table show a proportional relationship? 67. The number of cunces is directly proportional to the 70. The download time of a file is directly proportional
particular store came to $2,000. A discount of 17% Explain your reasoning. number of peunds. How many ounces are in a to the size of the file. How many megabytes can be
is allowed with the use of a store credit card. If Sally : -1 o1 T2 pound? downloaded in ane second? .ﬁmﬁlifﬂ'
buys the decorations with ber s ; the g 3 0 3 6 ¢ . o 00042 D ] 0

ice i ; i G ) : ! alanby
sale price of the decorations. | g/ /17y of ~ proporhamdl jupct rafel e n R b ounces o I g@
64. The table shows your earnings y for x hours of m% g or poun a\ g 1
54, Solver L0 " ia | work. Tell whether x and y show a proportional b / \ \ e
i “17 136 E‘L relationship, 5 o G /
-l 3 Z LY s S Tah
79 & kil $6.25 [$25.00 [ $43.75 | $62.50 Lo B an
55. m%mluullxm\\b.w . 8
Yy 109.8/ ¢ br %Q\JS\B\\_. Evh.m\\\&m\m h%bm\m\ hour M % \
5. Seagrove Waverunners rents jet skis for $60 per Va3 Wk g s &=

56. A snail moves at a rate of 3% meters in 38 minutes. bour. In addition to the hourly rental fee, there is a Number of Pounds oty
Mot : 1 S charge of 315 for insurance. Determing whether the Oos L]

o oes %ﬁo 1 one minute: number of hours you rent the jet ski proportional to 3 . L@ 3ol s ol
, (L1e ik : the cost. If so, express the relationship in the form o - 68 Determine if the graph models a directly ] Seconds

57. Gina ran 15 miles in 20 minutes, How far did she retio. NoE propor fisn als unit 1o s are proportional relationship? Explain your reasoning.
run in one minute? [ | . Hours Rented ' | ' 1 2 3 4 | not e i 2 . “71. ‘Which one of the relationships described is not

7g mile Cost S75 5135 | 8195 (8255 ] samts . " Not proporimal " proportional?
s on 1 2o eeause fhe ok carns —_

58. A motorcycle can travel 69 miles on 1 3 gallons of 66. Does the graph model a direct relationship meani " z | \ v Ji . VA Cedrick carms $9.75 for each day he pet-sits; is

% s i . : - 150 51 feis the relationship between the money he eams and
gasoline, How far can the motoreycle travel on one 1s 1t representing a proportional relationship? If so, 2 m_ﬁ Q.\ the days he works proportional?
gallon of gasoline? If necess: und the answer to give the unit rate. If not, explain why not. 2 = : : i .
rearst o [0 o o Z w0 o net lirear. VB The length of the side of 2 square and its
meles o - ﬁ\\ - ¥ rake perimeter; is the relationship between the

59. Frankb i —_— 2 gy 23%\3\3\& onat E R NR.SN \Q\. 3 measurements proportional?

9. Frank buys a 12-pack of bo d water for $3.12. 3, 3 \%\N\ are not ©.0 are not e vC A car travels at a constant speed of 35 miles per
How much would Frank spend if he bought one By it = Sy cane bour is the relationship betwoen the distance and
ot (90, 20 £ the- same. T (o) e et

0. bl has hked 1 = e : (Does pot pass FE&E;GE%E@Q%&%&

- ul bas hiked 14.4 miles in 6 hours. many ™ ; P - : ears old; is the relationship between their ages
miles would Abdul hike in 7.5 hours? 4 - N th \E&x “Sm% v 9. Wyattusesa @Ew y recipe to make stuffing. If he WB% il P g
18 mifes | TR R TR L plans on using 37 cups of chicken broth, about how

61. Three out of cight people have a tablet. If 44,100 Time (b) many pounds of bread does Wyatt need 10 use to
people in a certain city have a device, how many do keep the relationship between chicken broth and
not have a tablet? bread proportional? t T =

il | 1% pounds ]
62. Does the table show a proportional relationship? o HM Mw
Explain your reasoning. 4 4 2
%4 3 ] 11 1 | 3 31111
T 2| 2 6 | 10 812
Not Propurtinal, unit rater are
not Hu sanu. L
(Graph does not o fhre
grigin) X .
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